
=LPDB����

3UDFRZQLN�5R]NãDG���GU�0LHG]LęVNL�5DIDã��7\J������

�������������7\J����

0LNURNRQWUROHU\��Z��GU
0LHG]LĔVNL�5DIDá�$%�
�����35$&2:1,$
),=<&=1$����)�0����
$8$

�������������7\J��������
��

6\VWHP\�ZEXGRZDQH
�Z�� GU�0LHG]LĔVNL�5DIDá�
$%��������,�,����:

�������������7\J��������
���������

6\VWHP\�ZEXGRZDQH
�ODE�� GU�0LHG]LĔVNL
5DIDá� $%������7\J�������
�����������$%�������7\J
����� ���,�,����/

�������������7\J�������
�����

0LHUQLFWZR�HOHNWURQLF]QH
L�HOHNWURDNXVW\F]QH��Z��
GU�0LHG]LĔVNL�5DIDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�0����
$8$

'RGDWNRZH�]DMĊFLD
�����������]JRGQLH�]
KDUPRQRJUDPHP
VHPHVWUX�

������
������
7\G]���

0LHUQLFWZR
HOHNWURQLF]
QH�L
HOHNWURDNX
VW\F]QH
�Z�� GU
0LHG]LĔVNL
5DIDá� $%�
���
35$&2:
1,$
(/(.752
1,.,�,
$.867<.,
� ���)�0�
���$8$

=DMĊFLD
����������
]JRGQLH�]
KDUPRQRJU
DPHP
VHPHVWUX�

SR
QL

HG
]L

Dã
HN

������
�������7\J
���������
��

0LNURNRQWU
ROHU\��Z��G
U
0LHG]LĔVNL
5DIDá� $%�
���� ���)�
0����$8$

�������������7\J������
�����

7HRULD�SU]HWZDU]DQLD
V\JQDáyZ��Z��GU
0LHG]LĔVNL�5DIDá�$%�
����� ���)�0����$8$

'RGDWNRZH�]DMĊFLD�
�����������]JRGQLH�]
KDUPRQRJUDPHP
VHPHVWUX�

�������������7\J����

%H]SLHF]HĔVWZR�SUDF\�XU]ąG]HĔ�HOHNWU\F]Q\FK��ODE��
GU�0LHG]LĔVNL�5DIDá�$%�����35$&2:1,$
(/(.7521,.,�,�$.867<.,����,%�,����=%�/

�������������7\G]��

%H]SLHF]HĔVWZR�SUDF\�XU]ąG]HĔ
HOHNWU\F]Q\FK��ODE��GU�0LHG]LĔVNL
5DIDá� $%�����35$&2:1,$
(/(.7521,.,�,�$.867<.,����,%�,���
=%�/

�������������7\J������
�����

6\VWHP\�ZEXGRZDQH
�Z�� GU�0LHG]LĔVNL�5DIDá�
$%��������,�,����,2�:

�������������7\J������
�����

6\VWHP\�ZEXGRZDQH
�ODE�� GU�0LHG]LĔVNL
5DIDá� $%��������,�,����
,2�/

Z
WR

UH
N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�0LHG]LęVNL�5DIDã��7\J������

������
������
7\G]���

7HRULD
SU]HWZDU]D
QLD
V\JQDáyZ
�Z�� GU
0LHG]LĔVNL
5DIDá� $%�
����� ���)�
0����$8$

=DMĊFLD
����������
]JRGQLH�]
KDUPRQRJU
DPHP
VHPHVWUX�

Z
WR

UH
N

ģ
U

�������������7\G]���

0LNURNRQWUROHU\��Z��GU�0LHG]LĔVNL
5DIDá� $%���������)�0����$8$

�������������7\J����

(OHNWURDNXVW\ND��Z��GU
0LHG]LĔVNL�5DIDá�$%�
����� ���,0�/����5'=

]DM���;

F]
Z

DU
WH

N
3

W

�������������7\J��������

6\VWHP\�ZEXGRZDQH��Z��GU
0LHG]LĔVNL�5DIDá�$%����
35$&2:1,$�(/(.7521,.,�,
$.867<.,����,�=����:

�������������7\G]��

$NDGHPLD�0áRG\FK�:\QDOD]FyZ�GU�0LHG]LĔVNL�5DIDá�$%�����35$&2:1,$�(/(.7521,.,�,�$.867<.,

�������������7\J��������

6\VWHP\�ZEXGRZDQH��ODE��GU
0LHG]LĔVNL�5DIDá�$%����
35$&2:1,$�(/(.7521,.,�,
$.867<.,����,�=����/

�������������7\J�������

6\VWHP\�ZEXGRZDQH��ODE��GU
0LHG]LĔVNL�5DIDá�$%����
35$&2:1,$�(/(.7521,.,�,
$.867<.,����,�=����/

VR
ER

WD

�������������7\G]���

6\VWHP\�ZEXGRZDQH��ODE��GU
0LHG]LĔVNL�5DIDá�$%����
35$&2:1,$�(/(.7521,.,�,
$.867<.,����,�=����/QL

HG
]L

HO
D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


